3.2 Product and Quotient Rule

PRACTICE

| Find the derivative of the following.
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| Find the derivatives of the following.
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Given f(x) = (x%2 — 5)(3x + 2) , find the following.
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| Is the slope of the tangent line positive, negative, or zero at the given point?
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| Find f'(2) given the following.
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3.2 Product and Quotient Rule

TEST PREP

MULTIPLE CHOICE

1. Suppose f(x) is a differentiable function with f(1) = 2, f(2) = =2,f'(2) =5,f'(1) = 3,and f(5) = 1.

An equation of a line tangent to the graph of fis

Point  Slepe
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3. At what point on the graph of y = %xz - % is the tangent line parallel to the line 4x —8y =5 ?
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\é You are allowed to use a graphing calculator for #5 \%

5. Which of the following functions are contingous but not differentiable at x = 0?
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FREE RESPONSE Your score: out of 4

Tas

Graph of g
1. A continuous function g is defined on the closed interval —8 < x < 6 and is shown above.

(a) Find the approximate value of g'(4). Show the computations that lead to your answer.
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